
 

 

 

 

Id 1 

Question निम्िलिखित प्रश्ि में दिए गए शब्ि में प्रयकु्त संधि के प्रकार का चयि 
उसके िीच ेदिए विकल्पों में से कीजिए। 

निममि 

A व्यंिि संधि 

B विसगम संधि   

C स्िर संधि 

D इिमें से कोई िह ं   

Answer B 

 

 

 

 

 

Id 2 

Question सह  संधि विच्छेि का चयि कीजिए। 

रामायण 

A राम + अण 

B राम + आयि 

C राम + अयि 

D रामा + यम ्

Answer C 

 

 

 

 

 

 

 

 



Id 3 

Question जिस समास के िोिों पि अप्रिाि होते है, िहॉ पर कौि-सा समास होता 
है ? 

A द्िन्दद्ि समास 

B द्विग ुसमास 

C तत्परुूष समास 

D बहुब्रीदह समास 

Answer D 

 

Id 4 

Question कौि-सा शब्ि बहुब्रीदह समास का सह  उिाहरण है 

A निवषदिि 

B त्रिभिुि 

C पंचािि 

D परुूषलसहं 

Answer C 

 

Id 5 

Question ‘कु‘ उपसगम से बिा िेषि शब्ि कौिसा है ? 

A कुकमम 
B कुठौर 

C कुरूप 

D कुप्रबंि 

Answer B 

 

 

 

 

 

 



 

Id 6 

Question स्पषृ्य’ शब्ि में पिूम कौिसा उपसगम िोडें कक विपर तार्मक शब्ि बि िाए ? 

A िरु ्

B नि 

C अ 

D अप 

Answer C 

 

Id 7 

Question पयामयिाची शब्ि का चयि कीजिए – 

अिर 

A िैत्य 

B िािि 

C ककन्दिर 

D सरु 

Answer D 

 

Id 8 

Question पयामयिाची शब्ि का चयि कीजिए – 

अजनि 

A सोम 

B अक्षि 

C आिय 

D हुताषि 

Answer D 

 

 

 



 

Id 9 

Question वििोम शब्ि / विपर तार्मक शब्ि – 

सम्मिु 

A उन्दमिु 

B विमिु 

C प्रमिु 

D अधिमिु 

Answer B 

 

Id 10 

Question वििोम शब्ि / विपर तार्मक शब्ि 

भषूण 

A विष्ण ु

B भषूक 

C िषूण 

D भषूा 
Answer D 

 

Id 11 

Question निम्िलिखित शब्ि-यनुम के सह  अर्म-भेि का चयि कीजिए – \ 

अंस-अंष 

A दहस्सा-कुि 

B कंिा-दहस्सा 
C ककिारा-भाग 

D पररिार-भाग 

Answer B 

 

 



Id 12 

Question ‘छाि-िाि‘ शब्ि-यनुम का अर्म है 

A ित्रिय-वििार्ी 
B वििार्ी-छतर  
C छतर -वििार्ी 
D वििार्ी-ििीय 

Answer A 

 

Id 13 

Question निम्िलिखित में से सह  शब्ि-शदु्धि का चिुाि कीजिए। 

A मतृ्यूंिय 

B लमत्यन्दिय 

C मतृ्युंिय 

D मतृ्यनु्दिय 

Answer C 

 

Id 14 

Question दिए गए िाक्य में कािे छपे शब्ि की ितमिी अशदु्ि है, उसकी सह  ितमिी 
चिुिे के लिए चार विकल्प दिए गए हैं, उिमें से सह  ितमिी िािा शब्ि 
चनुिए – 

पनत-पत्िी के िोड ेको द्मपती कहत ेहै। 

A द्मपनत   

B िम्पनत   

C िम््ती   

D िम््ती   

Answer B 

 

 



 

 

 

 

 

 

Id 15 

Question निम्िलिखित िाक्य के लिए उसके िीच ेदिए गए विकल्पों में से उसके 
प्रकार को धचजन्दहत कीजिए – 

मज़िरू मेहित करता है ककन्दत ुउसके िाभ से िंधचत रहता है। 

A सरि िाक्य 

B लमश्र िाक्य 

C संयकु्त िाक्य 

D इिमे से कोई िह ं 
Answer C 

 

 

 

 

 

 

Id 16 

Question निम्िलिखित प्रश्ि में दिए गए िाक्य में से कुछ में िदुि है और कुछ 
ठीक हैं। िदुि िािे िाक्य में जिस भाग में िदुि हो, उस भाग का अिरांक 
(अ,ब,स अर्िा ि) ह  आपका उत्तर है। यदि िाक्य में कोई िदुि ि हो 
‘कोई िदुि िह ं‘ को उत्तर के रूप के धचजन्दहत कीजिए 

A अध्यापक ि े

B आि हमारे को 
C िया पाठ पढाया 
D कोई िदुि िह । 

Answer B 



 

Id 17 

Question िाच्य कहिात ेहै : 

A सिमिाम के भेि 

B संज्ञा के भेि 

C विषषेण के भेि 

D कियाओं के वििाि 

Answer D 

 

Id 18 

Question काम का िाम बतािे िािे शब्ि को क्या कहते हे ? 

A संज्ञा 
B सिमिाम   

C किया   

D किया-विषषेण   

Answer C 

 

Id 19 

Question िाक्यांश के लिए एक सार्मक शब्ि – 

हर काम को िेर से करि ेिािा। 

A ि र्मिषी 
B अिरूिषी 
C वििम्बी 
D ि र्मसिूी 
Answer D 

 

 

 

 



 

 

 

Id 20 

Question िाक्यांश के लिए एक सार्मक शब्ि – 

पिकों को धगराए बगरै। 

A अपिक 

B उन्दमीलित 

C निमामलित 

D अिभुाषण 

Answer A 

 

 

 

 

 

 

 

 

 

 

Id 21 

Question Veteran Film Director Mrinal Sen has passed away recently. In which year 

He was awarded with Padma Bhushan? 

ियोिधृ्ि किल्म नििेशक मणृाि सेि का हाि ह  में नििि हो गया। ककस 
िषम उन्दहें पद्म भषूण से सम्मानित ककया गया र्ा? 

A 1985 

B 1982 

C 1980 

D 1981 

Answer D 

 

 

 

 



 

Id 22 

Question An exhibition ‘Dandi Yatra', which is a part of the celebrations of the 

150th birth anniversary of father of the nation Mahatma Gandhi, was 

inaugurated in_____. 

एक प्रिशमिी, िांडी यािा’, िो राष्रवपता महात्मा गांिी की 150 िी ियतंी 
के समारोह का एक दहस्सा है, का उद्िािि _______में हुआ। 

A Hyderabad 

हैिराबाि 

B Jaipur 

ियपरु 

C Kolkata 

कोिकाता 
D New Delhi 

िई दिल्ि  
Answer D 

 

 

Id 23 

Question What is the Name of Supreme Court judge who was among the four 

judges who held the controversial January-12 press conference against the 

former Chief Justice of India Dipak Misra, retired? 

सपु्रीम कोिम के सेिानिितृ हुए िि का िाम क्या हैं िो भारत के पिूम 
मखु्य न्दयायािीश ि पक लमश्रा के खििाि वििािास्पि 12 िििर  की प्रेस 
कॉन्र्िें स करिे िािे चार न्दयायािीशों में से एक रे्? 

A Madan B Lokur 

मिि बी िोकुर 
B J Chelameswar 

िे चिेमेश्िर 
C Deepak Gupta 

ि पक गु्ता 
D Kurian Joseph 

कुररयि िोसेि 
Answer A 



 

Id 24 

Questio

n 

Which State Government abolished the condition of a minimum 

educational qualification to contest local body elections? 

ककस राज्य सरकार िे स्र्ािीय निकाय चिुाि िड़िे के लिए न्दयिूतम 
शिैखणक योनयता की शतम को समा्त कर दिया? 

A Rajasthan 

रािस्र्ाि 

B Mizoram 

लमिोरम 

C Madhya Pradesh 

मध्य प्रिेश 

D Telangana 

तेिंगािा 
Answer A 

 

Id 25 

Question _______ edition of Women's National Boxing Championships held in 

Vijayanagara, Karnataka. 

मदहिाओं की राष्र य मकु्केबािी चैंवपयिलशप का _______ संस्करण 
विियिगर, किामिक में आयोजित हुआ। 

A Second 

िसूरा 
B Third 

नतसरा 
C Fourth 

चौर्ा 
D Fifth 

पांचिा ं
Answer B 

 

 

 

 



Id 26 

Question Who has been appointed as the Chief Information Commissioner (CIC)? 

ककसको मखु्य सचूिा आयकु्त (सीआईसी) के रूप में नियकु्त ककया गया 
है? 

A Sudhir Bhargava 

सिुीर भागमि 
B Yashwardhan Kumar Sinha 

यशििमि कुमार लसन्दहा 
C Vanaja N. Sarna 

िििा एि सरिा 
D Neeraj Kumar Gupta 

िीरि कुमार गु्ता 
Answer A 

 

Id 27 

Questio

n 

India Vice-Captain Smriti Mandhana adjudged as the ‘Women’s Cricketer 

of the Year’ as well as the ‘Women’s ODI Player of the Year’ by the ICC. 

She is from which state? 

भारत की उप-क्ताि स्मनृत मंिािा को 'मदहिा किकेिर ऑि ि ईयर' के 
सार्-सार् आईसीसी व्िारा 'मदहिा ििड े्िेयर ऑि ि ईयर' चिुा गया 
हैं। िह ककस राज्य से है? 

A Kerala 

केरि 

B Tamilnadu 

तलमििाडु 

C Madhya Pradesh 

मध्य प्रिेश 

D Maharashtra 

महाराष्र 

Answer D 

 

 

 

 



Id 28 

Question Who has been appointed as the new Railway Board Chairman? 

ककसको रेिि ेबोडम का िया अध्यि नियकु्त ककया गया है? 
A Ashwani Lohani 

अश्ििी िोहािी 
B Anoop Kumar Mittal 

अिपू कुमार लमत्ति 

C Rakesh Sharma 

 राकेश शमाम 
D V. K. Yadav 

िी.के.यािि 
Answer D 

 

 

 

 

Id 29 

Question Life Insurance Corporation of India MD _______has been given the 

additional charge of the chairman. 

भारतीय िीिि बीमा निगम के एमडी ________को अध्यि का 
अनतररक्त प्रभार दिया  गया है। 

A Hemant Bhargava 

हेमंत भागमि 

B Pramod Kumar Singh 

प्रमोि कुमार लसहं 

C T B Radhakrishnan 

ि  बी रािाकृष्णि   

D Chagari Praveen Kumar 

छागर  प्रिीण कुमार 

Answer A 

 

 

 

 

 



 

 

Id 30 

Question Which State Government has decided to set up shelters for stray cattle? 

ककस राज्य सरकार िे आिारा पशजुओं के लिए आश्रय स्र्ि बिािे का 
निणमय लिया है? 

A Uttar Pradesh 

उत्तर प्रिेश 

B Andhra Pradesh 

आंध्र प्रिेश 

C Rajasthan 

रािस्र्ाि 

D Madhya Pradesh 

मध्य प्रिेश 

Answer A 

 

Id 31 

Question Who took over as the first Chief Justice of the Telangana High Court, 

which came into existence on 1st January 2019? 

ककसि ेतेिंगािा उच्च न्दयायािय के पहिे मखु्य न्दयायािीश के रूप में 
पिभार संभािा हैं िो 1 िििर  2019 को अजस्तत्ि में आया हैं? 

A Hemant Bhargava 

हेमंत भागमि 

B Pramod Kumar Singh 

प्रमोि कुमार लसहं 

C T B Radhakrishnan 

ि  बी रािाकृष्णि   

D Chagari Praveen Kumar 

छागर  प्रिीण कुमार 

Answer C 

 

 

 

 



 

 

 

 

Id 32 

Question International Advertising Association (IAA) will host the IAA World 

Congress at _______from 20 February. 

अंतरामष्र य विज्ञापि संर्(आईएए) 20 िरिर  से __________में आईएए 
विश्ि कागें्रस  की मेिबािी करेगा। 

A Kochi 

कोजच्च 

B Lucknow 

िििऊ 

C Jaipur 

ियपरु 

D Agra 

आगरा 
Answer A 

 

 

 

 

Id 33 

Question According to the UNICEF, India welcomed as many as _______babies on 

New Year's Day, the highest in the world. 

यनूिसेि के अिसुार, भारत िे िए साि के दिि ____लशशओंु का स्िागत 
ककया, िो िनुिया में सबसे ज्यािा है। 

A 69,944 

B 68,944 

C 67,944 

D 65,944 

Answer A 

 

 

 

 



 

Id 34 

Question Which country officially quit the United Nations Educational, Scientific 

and Cultural Organization (UNESCO)? 

ककि िेशो ि ेसंयकु्त राष्र शकै्षिक, िजै्ञानिक और सांस्कृनतक संगठि 
(यिेूस्को) को आधिकाररक रूप से छोड़ दिया हैं? 

A United States and Israel 

संयकु्त राज्य अमेररका और इिराइि 
B United States and Russia 

संयकु्त राज्य अमेररका और रुस 
C United States and France 

संयकु्त राज्य अमेररका और फ्ांस 

D United States and Iraq 

संयकु्त राज्य अमेररका और इराक 
Answer A 

 

Id 35 

Question Reserve Bank has allowed a one-time restructuring of existing debt of up 

to ______rupees for the companies which have defaulted on payment but 

the loans given to them have continued to be classified as standard assets. 
ररििम बैंक िे उि कंपनियों के लिए _________रुपये के मौििूा ऋण के 
एक बार के पिुगमठि की अिमुनत ि  है, िो भगुताि पर चकू गए हैं, 
िेककि उन्दहें दिए गए ऋण को मािक संपवत्त के रूप में िगीकृत ककया 
गया है। 

A 10 Crore 

१० करोड़ 

B 20 Crore 

२० करोड़ 

C 35 Crore 

३५ करोड़ 

D 25 Crore 

२५ करोड़ 

Answer D 



 

 

 

 

 

 

Id 36 

Question Who has been appointed as the Chhattisgarh Chief Secretary? 

ककसको छत्तीसगढ़ के मखु्य सधचि के रूप में नियकु्त ककया गया है? 
A Subhash Chandra Garg 

सभुाष चंद्र गगम 
B Ajay Narayan Jha 

अिय िारायण झा 
C Rajiv Mehrishi 

रािीि मेहररशी 
D Sunil Kujur 

सिुीि कुिूर 

Answer D 

 

 

 

 

 

Id 37 

Question Sachin Tendulkar's coach Ramakant Achrekar has passed away recently. In 

which Year, He was awarded with Padma Shri? 

सधचि तेंििुकर के कोच रमाकांत आचरेकर का हाि ह  में नििि हो 
गया। ककस िषम में, उन्दहें पद्म􀄪 श्री से सम्मानित ककया गया र्ा? 

A 2011 

B 2010 

C 2009 

D 2007 

Answer B 

 

 

 



Id 38 

Question Justice Cholendra Shamsher J B Rana took over as the new Chief Justice 

of _________ Supreme Court. 

िजस्िस चोिेंद्र शमशरे िे बी राणा ि े________के सपु्रीम कोिम के िए 
मखु्य न्दयायािीश के रूप में पिभार संभािा। 

A Bhutan 

भिूाि 

B Bangladesh 

बांनिािेश 

C Pakistan 

पाककस्ताि 

D Nepal 

िेपाि 

Answer D 

 

 

 

 

 

Id 39 

Question Erna Solberg is a Prime Minister of which country? 

एिाम सोिबगम ककस िेश की प्रिािमंिी हैं? 
A Japan 

िपाि 

B South Korea 

िक्षिण कोररया 
C Israel 

इज्रराईि 

D Norway 

िािे 

Answer D 

 

 

 



Id 40 

Question Arunima Sinha has become the first woman amputee to climb Mount 

Vinson (highest peak of Antarctica). She is from which state? 

अरुखणमा लसन्दहा माउंि विन्दसि (अंिाकम दिका की सबसे ऊंची चोि ) पर 
चढ़िे िाि  पहि  मदहिा दिव्यागं बि गई हैं। िह ककस राज्य से है? 

A Madhya Pradesh 

मध्य प्रिेश   

B Uttar Pradesh 

उत्तर प्रिेश 

C Rajasthan 

रािस्र्ाि 

D Arunachal Pradesh 

अरुणाचि प्रिेश 

Answer B 

 

 

 



 

ID 41-42 

Question Type Comprehension 

Main Text In each of the following questions find out the alternative which 

will replace the questions mark. 

िीच ेदिए गये प्रत्येक प्रश्ि में िो यनुम दिये गये है | जििमें 
पहिे यनुम के िोिों पिों में एक सम्बन्दि दिया गया है तर्ा 
िसुरे यनुम का एक पि िु् त है| दिये गये विकल्पों में से िह 
विकल्प चनुिये िो िसुरे यनुम के पि से समाि सम्बन्दि रिता 
हो| 

Question Fan: Wings: : Wheel : ? 

पंिा : पंिुड़ी : : पदहया : ? 

A Round      

चि 

B Moves 

र्मूिा 

C Spokes 

नतल्ि  

D Air 

हिा 
Answer C 

Question Success : Failure : : Big : ? 

सििता : असििता : : बड़ा  : ? 

A Great 

महाि 

B Small 



छोिा 

C Good 

अच्छा   

D Large 

बहुत बड़ा 

Answer B 

 

 

 

 

 

 

 

Id 43 

Question Pointing towards a person, a man said to woman, “His mother is the only 

daughter of your father.” How is the women related to that person? 

एक व्यजक्त की ओर इशारा करते हुए, मोहि एक औरत से कहता है कक 
"उसकी मााँ तुम्हारे वपता की एकमाि पिुी है”. 

A Daughter 

पिुी 
B Sister 

बहि 

C Mother 

माता 
D Wife 

पत्िी 
Answer C 

 

 

 

 

 

 



Id 44 

Question Pointing out to a lady, ram said, “She is the daughter of the women who is 

the mother of the husband of my mother.” Who is the lady to ram? 

एक औरत की और इशारा करत ेहुए राम कहता है कक, “िह मेर  माता के 
पनत की माता की पिुी है” | उस औरत का राम से क्या सम्बन्दि है? 

A Aunt 

बआु 

B Granddaughter 

पोती   

C Sister 

बहि 

D Daughter 

बेि    

Answer A 

 



ID 45-47 

Question Type Comprehension 

Main Text In each of the following questions, four words have been given out 

of which three are alike in same manner, while the fourth one is 

different. Choose out the different one. 

िीच ेदिये गये प्रत्येक प्रश्ि में चार शब्ि दिये गये हैं जििमें से 
तीि निजश्चत तर के से समाि हैं िब कक चौर्ा तीिों से लभन्दि है| 

लभन्दि शब्ि ज्ञात कीजिये | 

Question Choose the different word from the following. 

निम्ि में से लभन्दि शब्ि चनुिये | 

A Lion 

शरे 

B Bear 

भाि ू

C Tiger 

बार् 

D Leopard 

तेन्दिआु 

Answer B 

Question Choose the different word from the following. 

निम्ि में से लभन्दि शब्ि चनुिये | 

A Rose 

गुिाब 

B Marigold 

गेंिा 



C Lily 

लिलि 

D Banana 

केिा 

Answer D 

Question Choose the different word from the following.   

निम्ि में से लभन्दि शब्ि चनुिये | 

A Chilli 

लमचम 

B Tomato 

िमािर 

C Potato 

आि ू

D Brinjal 

बैंगि 

Answer C 

 

 

 

 

 

 

 

 

 

 

 

 

 



Id 48 

Question In a certain code, ‘KAVERI’ is written as ‘VAKIRE’. How will 

‘MYSORE’ written in that code? 

एक कूि भाषा में ‘KAVERI’ को ‘VAKIRE’ लििा िाता है| उसी कूि भाषा 
में ‘MYSORE’  को कैसे लििा िायेगा? 

A EROSYM 

B SYMROE 

C SYMEOR 

D SYMERO 

Answer D 

 

Id 49 

Question In a certain code, if ‘LOUD’ is written as ‘JQSF’, then which of the 

following English word will be coddled as ‘PKQG’?   

एक कूि भाषा में ‘LOUD’को ‘JQSF’ लििा िाता है तो निम्िलिखित में 
से ककस शब्ि को उसी कूि भाषा में ‘PKQG’ लििा िायेगा? 

A RISE 

B ROPE 

C ROAD 

D RICH 

Answer A 

 

Id 50 

Question In a certain code, ‘SPIDER’ is written as ‘PSDIRE’. How will be 

“COMMON” written in that code? 

एक निजश्चत कूि भाषा में ‘SPIDER’ को ‘PSDIRE’ लििा िाता है उसी 
कूि भाषा में ‘COMMON’ को कैसे लििा िायेगा? 

A OCOMMO 

B OCMMNO 

C OCMOMN 

D OCMMON 

Answer B 

 



ID 51-53 

Question Type Comprehension 

Main Text In each of the following questions a number series is given with 

one tern missing. Choose the correct alternative that will continue 

the same pattern and fill in the blank spaces. 

िीच ेदिये गये प्रत्येक प्रश्ि  में एक शे्रणी ि   गयी है जिसमें एक 
पि िु् त है | दिये विकल्पों में से उस सह  विकल्प को चनुिये िो 
ि   गयी शे्रणी का अिसुरण  करता हो | 

Question 17, 22, 27, 32, …... ? …....    

A 33 

B 35 

C 38 

D 37 

Answer D 

Question 87, 74, 61, 48, …... ? …....   

A 35 

B 30 

C 32 

D 25 

Answer A 

Question 135, 106, 77, …... ? …....,19.     

A 40 

B 45 

C 48 

D 35 

Answer C 

 



ID 54-55 

Question Type Comprehension 

Main Text Study the following information carefully and answer the question 

given below. 

A, B, C, D, E, F, G and H are sitting around a circular table facing 

centre. H is fourth to the left of B and second to the right of F. A is 

third to the left of C, who is not an immediate neighbour of F. G is 

second to the left of A. D is second to the right of E. 

िीच ेि  गयी िािकार  को ध्यािपिूमक  पदढये तर्ा दिये गये प्रश्िों 
के उत्तर ि जिये | 

A,B,C,D,E,F,G तर्ा H एक गोि मेि के चारो तरि केन्दद्र की 
ओर मुाँह करके बठेै हैं | H,B के बाएं चौर्ा है तर्ा  F के िायें िसूरा 
है | A,C के बाएं तीसरा है िो F का पड़ोसी िह  ंहै | G,A के बाएं 
िसूरा है | D,E िायें िसूरा है| 

Question Who is on the immediate right of F? 

F के एकिम िायें कौि बठैा है? 

A H 

B A 

C G 

D E 

Answer B 

Question Who is third to the left of A? 

A के बाएं तीसरा कौि बठैा है? 

A C 

B F 

C B 

D G 

Answer C 



 

 

 

 

 

 

Id 56 

Question Arrange the words given below in a meaningful sequence. 

1.  Nation  2.  Village  3.  City   4.  District  5. State 

िीच ेदिये गये शब्िों  को एक सार्मक  िम में व्यिजस्र्त  करें | 

1.  राष्र    2. गााँि     3. शहर   4. ििपि   5. राज्य   

A 2, 3, 4, 5, 1. 

B 2, 3, 4, 1, 5. 

C 1, 3, 5, 4, 2.   

D 1, 2, 3, 4, 5. 

Answer A 

 

 

 

 

 

 

 

Id 57 

Question Arrange the words given below in a meaningful sequence.   

1.  Plane  2.  Take off  3.  Stop  4.  Airport  5.  Runway 

िीच ेदिये गये शब्िों को एक सार्मक िम में व्यिजस्र्त करें | 

 १.  विमाि   २. उतारिा    ३. रुकिा    ४.  हिाई अड्डा   ५. रि ि े  

A 4,  1,  5,  3,  2. 

B 4,  5,  3,  1,  2. 

C 4,  5,  2,  1,  3. 

D 4,  5,  1,  2,  3. 

Answer D 

 

 

 

 

 



Id 58 

Question What day was Tuesday in March 2011? 

माचम 2011 में ककस दिि मंगििार र्ा ? 

A 2 March 

2 माचम 
B 7 March 

7 माचम 
C 15 March 

15 माचम 
D 30 March 

30 माचम 
Answer C 

 

 

 

 

 

 

Id 59 

Question In a row of boys, if A is 10th from left and B is 9th from the right and 

interchange their positions, A becomes 15th from the left. How many boys 

are there in the row? 

िड़कों की एक पंजक्त में, यदि A बांयी ओर से 10 िें ि B िांयी ओर से 
9 िें स्र्ाि पर िड़ा है, तर्ा आपस में अपिा स्र्ाि बिििे पर A बांयी 
ओर से 15 िें स्र्ाि पर आ िाता है, तो पंजक्त में िड़कों की संख्या 
बताओ । 

A 23 

B 27 

C 28 

D 31 

Answer A 

 

 

 

 



Id 60 

Question A series is given with one term missing. Choose the correct alternative 

from the given ones that will complete the series. 

FU, LO, RI, ? 

एक शं्रििा ि  गई है जिसमें एक िमम अज्ञात हैं आपको दिए गए विकल्पों 
में से उस विकल्प का चयि करिा है िो इस शं्रििा को परूा करेगा? 

FU, LO, RI, ? 
A PK 

B XC 

C UF 

D RI 

Answer B 

 

 

 

 

 

 

 

Id 61 

Question 
Choose the most opposite word of the given word below STUPID 

A Majestic   

B Intelligient   

C Bold   

D Angry   

Answer B 

 

Id 62 

Question 
A building where dead bodies are kept 

A Aviary 

B Hospital 

C Zoo 

D Mortuary 

Answer D 



 

 

Id 63 

Question In the following question choose the correctly spelt word. 

A Accomplish 

B Ackmplesh 

C Ackmplesh 

D Acomplush 

Answer A 

 

Id 64 

Question 
Abode 

A A place of permanent residence 

B A disciplined social community 

C Development dilemma 

D Self-discipline 

Answer A 

 

Id 65 

Question Select the most logical order of sentences from among the options. 

P - But he did not know how to find one at that hour. 

Q - It was his first visit to the city and he didn’t know where to go. 

R - Mohanlal's train was late and it reached Kolkata a little after midnight. 

S - He thought he would go to a country where he would not have to pay 

rent.  

A PSQR 

B QRSP 

C RQSP 

D RSQP 

Answer C 

 

 

 

 

 

 



Id 66 

Question 
Select the antonym of the given word. 

GATHER 

A disperse 

B distract 

C dispute 

D display 

Answer A 

 

Id 67 

Question Direction:In question below has two blanks, each blank indicating that 

something has been omitted. Choose set of words for each blank which 

best fits the meaning of the sentence as a whole. 

We can feel morally ___when someone insults us-as long as we do 

not___upon those felling by burning down houses. 

A Challenged, stand 

B outraged, act 

C bound, build 

D bound, build 

Answer B 

 

Id 68 

Question Given below are four jumbled sentences. Select the option that gives their 

correct order. 

A. The cafe's owner says he's interested in conservation, and hopes 

customers will realise the animals are worth saving, even though they 

often have a bad reputation. 

B. None of them are venomous, meaning customers can get up close and 

personal with the reptiles. 

C. Here you sip your drink in the company of 35 snakes. 

D. This cafe, which has just opened in Tokyo, is not for the faint-hearted. 

A DCBA 

B ABDC 

C DBCA 

D ABCD 

Answer A 



 

Id 69 

Question In the sentence identify the segment which contains the grammatical error. 

We had to decline several orders in case that the production was held up 

due to labour strike. 

A the production was held up 

B due to labour strike 

C We had to decline 

D in case that 

Answer D 

 

Id 70 

Question Select the most appropriate meaning of the given idiom. 

At daggers drawn 

A deceiving somebody 

B bitterly hostile 

C without hope 

D friendly with each other 

Answer B 

 

Id 71 

Question Select the antonym of the given word. 

SCARCE 

A plentiful 

B few 

C seldom 

D scanty 

Answer A 

 

 

 

 

 

 

 

 

 



 

 

 

Id 72 

Question 
Use the verbs given in brackets either in Active or Passive according to 

sense of the given sentence. 

He…..at the airport yesterday. (see) 

A have seen 

B is seen 

C was seen 

D were seen 

Answer C 

 

 

Id 73 

Question Direction: Choose the correct alternative of the following sentences. 

Pinki said to Gaurav, “will you help me in my work just now?” 

A Pinki asked Gaurav if he would help her in her work just then 

B Pinki questioned to Gaurav that will you help me in my work just now 

C Pinki told Gaurav whether he will help in her work just now 

D Pinki asked to Gaurav that will he help her in her work just now. 

Answer A 

 

 

Id 74 

Question I am……..forward to our picnic scheduled in the next month. 

A seeing 

B going 

C looking 

D planning 

Answer C 

 

 

 

 

 



Id 75 

Question Choose the option which gives the correct meaning of the phrases. 

Hang in there 

A To stop 

B Don't give up 

C Don't be late 

D Don't do hard work 

Answer B 

 

 

Id 76 

Question In questions given below, out of the four alternatives, choose the one 

which can be substituted for the given words/ sentence. 

A collection of historical documents or records providing information 

about a place, institution, or group of people 

A Psephologist 

B Sculptor 

C Zoology 

D Archives 

Answer D 

 

 

Id 77 

Question Managers set objectives, and decide .............. their organization can 

achieve them. 

A what 

B how 

C which 

D because 

Answer B 

 

 

 

 

 

 

 



Id 78 

Question In the following questions, you have brief passages. Read the passages 

carefully and choose the best answer to each question out of the four 

alternatives. 

Indian airlines had no positive response to the incident occurred in the 

failure of aeroplane engine. It was 1989 ,Indian airline B059 got crashed 

in the middle of the Indian ocean,205 passengers were died.There were no 

clues about the B059 , some says that it got crashed but some said it got 

lost. Passengers relative were worried about their dear ones. Government 

decleared the issue of B059 as a priority,Indian navy were given 

responsibility to find the B059 but nothing was found .After a year some 

fishermen found the black box of B059, which confirms about the crash of 

Indian aeroplane B059 due to engine failure. 

How many passengers were died? 

A 200 

B 205 

C 210 

D 219 

Answer B 

 

 

 

 

 

 

 

Id 79 

Question Each sentence below has a blank and each blank indicates that something 

has been omitted. Choose the word that best fits in meaning of the 

sentence as a whole. 

Raj was___ introvert and would prefer to sit in the library rather than go 

out with friend’s birthday. 

A An   

B The 

C A 

D for 

Answer A 

 

 

 



 

 

 

 

 

Id 80 

Question 
Select the most appropriate word to fill in the blank. 

The National war memorial is ______ to our Armed Forces. 

A dedicated 

B devoted 

C honoured 

D inscribed 

Answer A 

 

 

 

 

Id 81 

Question A person deposited Rs. 500 for 4 years and Rs. 600 for 3 years at the same 

rate of simple interest in a bank. Altogether he received Rs. 190 as 

interest. The rate of simple interest per annum was 

एक आिमी एक बैंक में समाि सािारण ब्याि की िर से 4 िषम के लिए 
₹500 और3 िषम के लिए ₹600 िमा करता है । िोिों पर कुि ब्याि 
₹190 प्रा्त होता है । ब्याि की िावषमक िर बताएं।   

A 4% 

B 5% 

C 2% 

D 3% 

Answer B 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

Id 82 

Question Rs. 260200 is divided between Ram and Shyam so that the amount that 

Ram receives in 4 years is the same as that Shyam receives in 6 years. If 

the interest is compounded annually at the rate of 4% per annum then 

Ram's share is – 

रु.260200की ििरालश को राम और श्याम के बीच इस प्रकार विभाजित 
ककया गया कक राम को 4 िषम में प्रा्त ििरालश श्याम को 6 िषम में 
प्रा्त ििरालश के बराबर है। यदि ब्याि की िर चििदृ्धि ब्याि पर 4% 
िावषमक है। तो राम का दहस्सा बताओ। 

A 𝑅𝑠. 125000 

B 𝑅𝑠. 135200 

C 𝑅𝑠. 152000 

D 𝑅𝑠. 108200 

Answer B 

 

 

 

 

Id 83 

Question If 2sin2𝜃 − 3sin𝜃 + 1 = 0,,  θ being positive angle, then the values of θ are : 
यदि  2sin2𝜃 − 3sin𝜃 + 1 = 0, , θ िि न्दयिू है, तो θ के माि है ? 

A 300, 900 

B 600, 550 

C 600, 450 

D 450, 550 

Answer A 

 

 

 

 

 

 



 

 

 

 

Id 84 

Question If x, y, z are three sum of money such that y is the simple interest on x and 

z is the simple interest on y for the same time and at the same rate of 

interest, then what is the relation between x, y, z we have – 

 तीि रालशयााँ x, y, z इस प्रकार हैं कक y, xका सािारण ब्याि तर्ा z, 
yका सािारण ब्याि है। इि िोिो जस्र्नतयों में यदि समय तर्ा िावषमक 
िर समाि हों तो x, y, तर्ा zमे सम्बन्दि क्या है। 

A 𝑥2 = 𝑥𝑦 

B 𝑥𝑦𝑧 = 1 

C 𝑥2 = 𝑧𝑦 

D 𝑦2 = 𝑧𝑥 

Answer D 

 

 

 

 

 

 

Id 85 

Question The cost price of an article is Rs. 800. After allowing a discount of 10 %, a 

gain of 12.5 % is made. Then the marked price of the article is 

एक िस्त ुका िय मलू्य 800 रु है। 10 % छूि िेिे पर12.5 % िाभ 
होता है, तो िस्तु का अंककत मलू्य ज्ञात करें। 

A Rs. 1,000 

B Rs.1,100 

C Rs. 1,200 

D Rs. 1,300 

Answer A 

 

 

 

 

 



Id 86 

Question A seller marks his goods 30 % above their cost price but allows 15 % 

discount for cash payment. His percentage of profit when sold in cash is 

एक वििेता अपिे सामािों पर िय मलू्य से 30 % अधिक अंककत करता 
है। परन्दत ुिगि भगुताि पर15 % की छूि िेता है । िब िह इसे िगि 
भगुताि पर बेचता है,तो उसे ककतिे प्रनतशत िाभ होता है? 

A 10.5 % 

B 15% 

C 9% 

D 8.5% 

Answer A 

 

 

 

 

Id 87 

Question In an examination in which full marks were 500. A got 25% more than C, 

C got 20% less than D. If A got 360 marks. What percentage of full marks 

was obtained by D ? 

एक पर िा में अधिकतम अंक500है, Aको C से 25% अधिक अंक प्रा्त 
होत ेहै औरC को D से 20% कम अंक प्रा्त होत ेहै । यदि A को 
360अंक प्रा्त होते है तो Dको अधिकतम अंक का ककतिा प्रनतशत प्रा्त 
हुआ? 

A 72% 

B 80% 

C 60% 

D 50% 

Answer A 

 

 

 

 

 

 

 

 

 



 

 

Id 88 

Question A  takes twice as much time as B and thrice as much as C to complete a 

piece of work. They together complete the work in 1 day. in what time, 

will A alone complete the work. 

A ककसी काम को Bकी तुििा में िोगुिे समय में तर्ा C की तुििा में 
नतगुिे समय में करता है । यदि तीिों लमिकर काम को 1 दिि में करत े
हैं, तो A अकेिा उस काम को ककतिे दििों में करेगा? 

A 9 days 

B 5 days 

C 6 days 

D 4 days 

Answer C 

 

 

 

 

Id 89 

Question A person travels 600 km by train at 80 km/hr 800 km by ship at 400 km/ 

hr and 100 km by car at 50 km/hr. What is the average speed for the entire 

distance? 

एक व्यजक्त 600ककमी. की यािा रेि द्िारा 80 ककमी/र्ंिा, 800 ककमी 
की यािा िहाि द्िारा 400 ककमी / र्ंिा से तर्ा 100 ककमी. की यािा 
कार द्िारा 50 ककमी/रं्िा से तय करता है । उसकी कुि यािा के लिये 
औसत चाि क्या होगी। 

A 
65

5

123
𝑘𝑚. ℎ𝑟 

B 
130

10

23
𝑘𝑚. ℎ𝑟 

C 
60

5

123
𝑘𝑚. ℎ𝑟 

D 62 km.hr 

Answer B 

 

 

 



Id 90 

Question A runner starts running from a point at 6:00 am with a speed of 8km / hr. 

Another racer starts from the same point at 8:30 am in the same direction 

with a speed of 10km / hr. At what time of the day (in P.M.) will the 

second racer will overtake the other runner? 

एक िािक 8 ककमी / रं्िा की गनत से सबुह 6:00 बिे एक त्रबिं ुसे 
चििा शरुू करता है।10 ककमी / र्ंिा की गनत के सार् एक और रेसर 
उसी त्रबिं ुपर सबुह 8:30 बिे से उसी दिशा में शरुू होता है।दिि के ककस 
समय (P.M. में) िसूरा िौड़िे िािा िसूरे िािक से आगे निकि िाएगा? 

A 8 : 00 

B 4 : 00 

C 6 : 30 

D 5 : 30 

Answer C 

 

 

 

 

Id 91 

Question A can give 40 meters start to B and 70 meters to C in a race of one 

kilometer how many meters start can B give to C in a race of one 

kilometer? 

1 ककमी. की िौड में A, B को 40 मीिर तर्ा C को 70 मीिर की बढ़त 
िे सकता है उसी िौड़ में B, C को ककतिी बढ़त िे सकता है? 

A 30 meter 

B 700

29
𝑚𝑒𝑡𝑒𝑟 

C 
31

1

4
𝑚𝑒𝑡𝑒𝑟 

D 32 meter 

Answer C 

 

 

 

 

 



 

 

Id 92 

Question The equidistant point from the vertices of a triangle is called its: 

ककसी त्रिभिु के शीषों से समाि िरू  पर जस्र्त त्रबन्दि ुकहिाता है । 

A Centroid 

B Incentre 

C Circumcenter 

D Orthocenter 

Answer C 

 

 

 

Id 93 

Question A shopkeeper has 11 books of same cost price. He sells the first book at 

certain price, then he sells second book at a price which is ₹ 1 less than the 

selling price of first book and then he sells third book at a price which is 

₹1 less than the selling price of second book. Following this pattern, he 

sold all 11 books. If he sells sixth book at its cost price. Find the overall 

percent profit or loss on selling all 11 books. 

एक िकुाििार के पास एक ह  िय मलू्य की 11पसु्तकें  हैं । िह पहि  
पसु्तक को एक निजश्चत मलू्य पर बेचता है,किर उसके बाि िह िसूर  
पसु्तक के वििय मलू्य से ₹1कम के मलू्य पर बेचता है और किर िह 
तीसर  पसु्तक को िसूर  पसु्तक के वििय मलू्य से ₹ 1कम मलू्य पर 
बेचता है । इसी िमािसुार िह11पसु्तके बेचता है । यदि िह छठिीं 
पसु्तक को िय मलू्य पर बेचता है तो सभी 11 पसु्तकों के वििय मलू्य 
पर हुए िाभ अर्िा हानि का प्रनतशत ज्ञात करें? 

A 20% 

B 10% 

C 1

11
% 

D No profit no Loss 

Answer D 
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Question There is 40 % increase in an amount in 8 years at simple interest. What 

will be the compound interest  (in rupees) of Rs 30,000 after 2 years at the 

same rate? 

एक रालश में 8िषों में सािारण ब्याि पर40% की िदृ्धि होती है। उसी 
िर पर 2 िषों में 30,000 रूपयों का चििदृ्धि ब्याि ( रूपयों में ) 
ककतिा होगा? 

A 6150 

B 7867.5 

C 4612.5 

D 3075 

Answer D 
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Question A trader purchased a gift box for Rs. 150. What should be the marked 

price on the gift box so that after allowing a discount of 10 %, he makes a 

profit of 10 %? 

एक व्यापार  ि ेRs.150 में एक धगफ्ि बॉक्स िर िा । उस धगफ्ि बॉक्स 
का अंककत मलू्य क्या होिा चादहए, ताकक 10% की छूि िेिे के बाि भी, 
िह 10% का िाभ प्रा्त कर सके? 

A Rs . 180 

B Rs . 183.3 

C Rs . 186.6 

D Rs . 190 

Answer B 
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Question PA and PB are two tangents to a circle with center O from a point P 

outside the circle. A and B are points on the circle. If  ∠𝑂𝐴𝐵 = 35𝑜   than 

∠𝐴𝑃𝐵is equal to: 

PAऔरPBकें द्रOिािे एक एक ितृ्त की िो स्पशम रेिाएं हैं िो ितृ्त के बाहर 
जस्र्त त्रबिं ुPसे निकि  हैं। A औरBितृ्त पर जस्र्त िो त्रबिं ुहैं । 
यदि∠𝑂𝐴𝐵 = 35𝑜, तो ∠𝐴𝑃𝐵ककसके बराबर होगा? 

A 700 

B 200 

C 250 

D 350 

Answer A 
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Question If the income of A is 10% more than that of B and the income of B is 20% 

less than that of C, then the incomes of A, B and C respectively are in the 

ratio 

यदि A की आय, B की आय से 10% अधिक है तर्ा B की आय, C की 
आय से 20% कम है, तो िमशः A, BऔरC की आय का अिपुात ज्ञात 
कीजिए। 

A 11 : 10 : 8 

B 22 : 20 : 25 

C 10 : 9 : 7 

D 22 : 18 : 25 

Answer B 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

Id 98 

Question Find the inradius of a triangle having sides 13, 14 and 15 units. 

13, 14 और15इकाई िािे त्रिभिु की आंतररक त्रिज्या ज्ञात कीजिए 
A 4 

B 6 

C 8 

D 42 

Answer A 
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Question The angle of elevation of ladder leaning against a house is 60° and the foot 

of the ladder is 6.5 meters from the house. The length of the ladder is: 

ककसी र्र पर जस्र्त सीढ़  का उन्दियि कोण 60° है तर्ा सीढ़  का पाि 
र्र से 6.5मी. िरू  पर जस्र्त है। सीढ़  की िम्बाई ज्ञात करें । 

A 13

√3
𝑚𝑒𝑡𝑒𝑟𝑠 

B 13 meters 

C 15 meters 

D 3. 25 meters 

Answer B 
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Question M, P and Q together started a business. M invested Rs. 6,500 for 6 

months, P  invested Rs. 8,400 for 5 months and Q invested Rs.10,000 for 3 

months. M is working member for which he gets 5 % of total profit extra. 

If the total gain is 7,400 , then Q's share is : 

M,Pतर्ा Q िे लमिकर एक व्यापार शरुू ककया| Mि े6 मह िे के लिए 
₹6,500 का नििेश ककया, P ि े5 मह िे के लिए ₹8,400 का नििेश 
ककया तर्ा Q िे 3 मह िे के लिए Rs.10,000 का नििेश ककया। व्यापार 
संभाििे के लिए M को कुि िाभ का 5% भी लमिता है । यदि कुि 
िाभ ₹7,400 है, तो Q का दहस्सा ज्ञात करें?   

A Rs. 1900 

B Rs. 2,100 

C Rs. 3,200 

D Data are incomplete 

Answer A 

 


